Zadatak 15.  Sljedete funkcije napid u obliku kompozicije dviju funkcija od koje je jedna

polinom:

1) f(x)=/*—3x+1;

2) f(X) =X+ 2%/X — X+ 3yX+ 2;
3) f(x) =sin(x—2)2;

4) f(x) =sin’(x—2);

5) f(x) = cos® —2cosx + 3;

6) f(x) =sin’x+ cos®x — 2cosx+ 1.

Rjegenje. 1) f =goh, g(x) = VX, h(x) = X2 — 3x + 1;

2) f =goh, gx) =x* + 2 —x% 4+ 3x+ 2, h(x) = VX;
3) f =goh, g(x) =sinx, h(x) = (x—2)?;

4) f =goh, g(x) =x%, h(x) =sin(x — 2);

5) f =goh, g(x) = x? — 2x+ 3, h(x) = cosx;

6) f =goh, g(x) =X —x2 +2x+ 2,

h(x) = cosx.





